CHAPTER  IV. 

                            DISCUSSION

1. Gravitational interaction: a force acting between each two physical body
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4. condition for orbital motion around a mass M, on a circular trajectory with radius r:
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5. inertial forces: acting relative to accelerating 

systems.          
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centrifugal forces: inertial force acting on rotating systems.          
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(importance in understanding tides)
6. the concept of gravitational field: each mass  

     modifies the space surrounding it ( creating a 

     gravitational field around it. Objects are      

     influenced by this gravitational field ( 

                                                   gravitational force

Exercise I.:

                 If we consider no air resistance, calculate how fast the apple should be launched in Newton’s thought experience to orbit the Earth, if the launching spot is Mount Everest (approx. 9km  height). After how much time will the apple complete a full rotation? (Mass or the Earth is: 5.98 x 1024 kg; Radius of the Earth is: 6370 km). 

Exercise II.:

                       A geosynchronous satellite orbits the Earth at an altitude of 36 000 km. What is the altitude of a satellite which has an orbital period which is two times bigger? What is the speed of this second satellite, and how does this compare with the speed of the geosynchronous satellite? (The radius of the Earth is: 6370 km)
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